x+y+z=1, xy+yz+zx=2, xyz=3 LW, (x+y)(y+2)(z+x)
o] gt& otd?

@ -2 @—1 ® 0 @ 1 ® 2

B ~

X+y+z=1°A

x+y=1-z
y+z=1-x
z+x=1-y

(x+»)0+2)(z+x) =(1-2)(1-x)(1-y)
=1-(x+y+2)+ (xy+yz+2zx)—xy2
=1-1+2-3=-1
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(a+b+c)?=a®+b>+c? + 2ab + 2bc + 2ca

(a+b+c)(a®+b*+c?—ab—bc—ca) = a® + b3 + ¢® — 3abc
(a+b)? = a3+ 3ab + 3ab* + b3
(

a-b)?=a®-3a?b + 3ab® - b*

@ e e e e

(@*+a+1)a®>-a+1)=a*-a®>+1

@ @+a+)(a®*-a+1)=(a®>+1)?-d?
=a*+a’>+1




3. xtytz=lwytyzta=20z=3¢ ™, (x+ 1)y +1)(z+1)
o] = kit

> E:

> ™eh: 7

(r+ 1D +1)(+1)
=xyztxy+yzt+ax+x+y+z+1
=7




a+b+c=1, ab+bc+ca=1, abc =1L 4], a3+ b3+ 3 2] F27?

® 3 @-3 OGn @ ®

Wl
NeB i

B )

(a+b+c)?=a*+b?+c?+2(ab + be + ca)
l=a®+b>+c*+2

L @A e =l

a® + b3 + ¢3 — 3abc
=(a+b+c)(a*+b?+c?—ab-bc - ca)
A+ +3-3=1-(-1-1)=-2

LA+ =1




5.

a+b+c="7,a>+b%>+c% =21, abc =84 W, a®b® + b*c? + 2a?
o gre?

D 26 @ 48 @84 @ 96 ® 112

B ~

(a+b+c)?=a®+b?+ ¢+ 2(ab + be + ca)

49 = 21 + 2(ab + bc + ca)

. ab+bc+ca=14

a’b® + b2c? + c?a® = (ab + bc + ca)? - 2abc(a + b + )
= (14)2 - 2(8 % 7)

=84




6. a®+b2+c?=ab+bc+ca®lilabc =1L W, (a®+b* + 3)% 9
= ALtstA?

@1 @ 4 @9 @ 16 ® 25

B ~

a® 4+ b3+ ¢*

= (a+b+c)(a®+b?+ c?—ab - bc - ca) + 3abc
—(a+b+c)x0+3abc=0+3-(1)=3
L@+ + )2 =9

B ~

a’? +b?+c? =ab+ bc + ca a* + b? + ¢ — (ab + bc + ca) = 0

S (a7 + (b= + (c~a)?} =0

La=b=c—oabc=a*=b=c*=1
(@+b3+c3)2=1+1+1)2=9




